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REVIEW SET 14B

1 ABCD, ABDC, ACBD, ACDB, ADBC, ADCB, BACD, BADC, BCAD, BCDA, BDAC, BDCA,
CABD, CADB, CBAD, CBDA, CDAB, CDBA, DABC, DACB, DBAC, DBCA, DCAB, DCBA

,:@-rﬂm«ﬁ STET e e

! d There aré 24 possible orderings. . b P (exactly one person between A and )]
3 © A "w . P{Aisnextto C) =2 {8 have one person between A and C}
i\ = 3% {12 have A next to C} =1
=1 R '
2
3 2 coin a Consonants-are B, C and D
3 T4 . = . .. P(H and a consonant)
& Hy o X X gpiner =2 {those with x}
2 A B.CD .
' b  P(Tand C) . € P(Tor vowel)

'=§ {thosew1tha/} . =P(T or A) SR
i b g . += B(T).++ P(A) —P(T. and: A)

=5
8
a+b+c=24 o 13+c=245a1d a+14 = 24
a+b=13 Sooe=-11- . a_nd a =10
b+c=14 I =
Also b.=13—a » :
) =3 §
o i
e ) -': 7;‘
b P(at least one) < i TPV '
-;l—P(nmther) . Do
hoa S A
PO =0 1- ﬁ% L, Bad _;.,-:f-_..- e
:' iu‘(. '-1_5.:.’_5%%‘7"-.:»"‘ 5 v =}|—‘ e e A e e
N N < P(lelasme) v e
ke & N2 4)(0:2)1'(0.4){0.6)(0. 4) + (0 6) (©. 4)(0 4)
R :
| 0> R = (.352
) 04 N S N
D4 N < a2
L x 0.6 ‘R £, e a¥a
2
3
b  P(at least one) _ € PM and W)
{assuming = P(M or W) . =(1-2)x2
independence} = P(M) + P(W) — P(M and W) — B2
—3,2_2 o3
— 57375 = 4
15
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6 a P(wins first 3 prizes) b P(wins at lcast one of the 3 prizes)

. = P(WWW) = 1 — P(wins none of them)
_ 4 3 2 _ VYAtV
= 500 X 299 X ToR =1 - P(WWW)
- _ 496, 495 494
= 1.93 x 1077 =7 500 X 299 X qom

0.0239

7 Day 1 Day 2 P(works on at least onc day)
0.95 - W
095 W = 0.95 x 0.95 + 0.95 x 0.05 + 0.05 x 0.95
< 0037 W = 0.9975
0.95 - W
0.05 W
0.05~ W'
> - 3 - 2 =1
8 N = N PA) =2, PB)=2 P(C) =
3T 4T 5T
A B C
@ P(S) =P(Aand SorBandSorCandS) b PB|S) = F(ETD)S)
3. 7 6 5
= EXHtEXmtix . .
_ 38 _ 6 X 10
= - 34
e 60
= 1 - [
= 38
% — 6
= 19
9 '_A = a+b+e+d=35 As e =5,
b+c+e+ f =31 b=2, f=6, d=3
d+e+f+g =235 a+2+4+5+4+3 =35
bte=17 ie, a=25
e+ f =11 .
d+e =138 2+C-l‘-5+6:.13}l{
e=05 and h=2 =S £S5
U 3+5+6+g =35
b Number in the elub 2 E=E
: =254+2+5+34 1846+ 21+ 2
i =82
H
4 € i  P(reads A only) iv  P(reads A and B,
i 25
it = but not C)
g 2
.! . - = 82
: U I P(reads all) = 2 1
4y

ili  P(reads B or C)

P(reads exactly on
18424 5+6+3+21 (reads exactly one)

S i g e il

= 25+ 18 +21
55 o2 - 82
= 82 64
i 82
'i .
u[ 41

Vi P(reads at least one)
. 2
=1-g
_ 80
= 82

= 40
-
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REVIEW SET 14C
1 BBBB, BBBG, BBGB, BGBB, GBBB, BBGG, BGBG, P(2B and 2G)
BGGB, GGBB, GBBG, GBGB, BGGG, GBGG, GGBG, 6 +«— 6 have 2B and 2G
GGGB, GGGG =7z
. 16
_3
8
2 die There are 36 possible outcomes.
6 2. e o 0 B
3 ot o o % a P(sum of 7 or 11) b P(sum of at least 8)
e = “_.. L
% Sl ik = & {those shaded} _1+24+3+4+5
e oo ot ‘ _ 2 36
123456  die2 o =3
=5
=12
3 E L a+b+c =37
at+b =22 c. 224¢ =37 and a+25 = 37
b+c =25 ;. c=15 and a =12
3 Hence, b =22 —-a =10
a P(E and L) b P(at least one) E L
- }1_8 o _12+4+10+15
.y 40
=1 , 5T
= 40 3
10
PE|L)= ———— =10 - 2.
¢ (E[L) 15+ 10 25 N
& Multiples of 6 are: 6, 12, 18, 24, ....., 96 «— 6x16 e, 16 of them
Multiples of 8 are: 8, 16, 24, 32, ....., 88,96 8 x 12 ie., 12 of them
Multiples of 6 and 8 are: 24, 48, 72, 96 ie., 4 of them

The integers could be 1,2, 3, 4, ...., 99 {between 0 and 100} ie., 99 of them

P(Ms or Mg) = P(Ms) + P(Ms) — P(Mg and Ms)

— 16 12 _ 4
_99+99 99

_ 24
= %9
_ 8
33
5 a P(both blue) b P(both same colour) C P(at least one R)
= P(BB) = P(BB or RR or YY) =1 — P(no reds)
&4 —ExAEXEAARE  =1-PRR)
=% =1 =1-Zx&
=1-%L
d P(exactly one Y) . 1
= P(YY' or Y'Y) -

—_ 4 8 8 A4
=1 X1t XT3

— 16
33




;; ' 6 a Two events are independent if the oceurrence of one does not influence the occurrence, of the
other._ kor Aand B. mde:pendcnl, P(A) X P(B).
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p ‘;1.2. /‘3'5 Sd':__/\/em Wiag,

P= {234567,8} b n(P);v

1 a
2°a i {z]z€Z >3} {:z:l:ceQ, —5 z €8
2 { infinite i infinite . AR
3 a » QCP b yes, {}CQ : - I
A oa h{qau} b B={2,3,5711,13)} " . R
¢ B'={0,1,4,6,8,9,10,12 14,15} -
d AUB={2134,58 %38 11, 12,13}
e AnB'—{4 8, 12}’ g
5 a i A={pgqrs} i B= {stv,w} :
il ANB={s} i (AUB)::I{G‘C’IOU}
v AUB ={a¢1i,0,p 01, s,u) d
-vi A'NB= {t'uw} mEE L
b i n(AUB)= 7 1 n(AnB') 3"
6 a

5-where CE n:presums comnan ¢
executive and S represenls

13

P={2,4,6,8,3012:14, 16, 18); Q= {4,8.12,16}
PNQ={4,8,12 IGF_ )
PUQ={24, 6,8, 10, 12, 14, 16,18} d “Yes, Q € P
n(PUQ) = 9 n(P) +n(Q)— n(PnQ) 94+4-4=9
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REVIEW SET 33 -- : -
1 a Theset of a]l T such lhat z is. a ﬂegalwe number hetween -
—4'and 0, P o
b A= {*'—,z, -1} ¢ Alsﬁm,tg g
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"B i R={24,6, 8,10, 12,44,18, 13} = {1 4,9, 15}

i n(S)=4"
i §8={235,8, 7,3, lﬂtJl 12,13 14 15, 17 18,

BT T -
iv no, since-not all- members ofs a:e in R i
a8byg ) ) B
a ' - ’i

™ ‘whereF. represtnts female
and > 50 represents more =
|  than 50 yearsold + - -° s

Solutions

4
-.2

awnl 1

I) valucs ig.. "
¢1 '

Y

)_;
1%

W%— 2(10) 3(10) +4(12) + 5(20) * 600
=381

Total dastrqud: = 34 104+ 10+ 12 + 20 + 30
J=85 |

e
Expectqd hfe span = -83- m4 years .



